B7% DIN6350

3-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS
o] 5@ 3\ & & B = JT\ 3 7% 5288

= =T i > Dimensions

#2158 » Specifications _ BTN T
Ty RIS S E R Max, Gripping Dinmatar
MDDEL A B & 8] E F G H J K M L Max.Speed Mg [Eatiig

{ SFPEC, Lo.mM.(min’} O.0.Clamping  1.0.Glamping
JDACT-04 100 60 Fit] B3 20 10 3-M8x1.25FP 42 14 i7 4-ME=x1.25P 8 5200 pd-085 030-e83
ADACT-05 126 &5 85 108 32 105 3-MBx125P 50 16 20 4-Mid15P 8 4800 p3-p122 035-0111
ADACT-06 160 725 1256 140 42 12 FM10x15FP 65 18 23  4-M1E2x1.75F 10 4200 o4-0160 o46-0155
EDACf-UB 200 825 IED 178, .BE 12 3-MiO=15P 75 22 2B 4-M12x1.75FP 11 3500 o4-0187 o51-0184
JDACT-10 250 91 200 224 76 13 3-MI2x1.75P 88 28 385 4-M12x175P 12 2600 060267 o7 0-g252
JDACT-12 315 103 260 286 102 14 3-M1Ex2P 110 3¢ 445 4-M12x1.758P 14 2200 o10-a325 o81-p308
3DACT-15 400 122 330 362 136 15 F-MIExE2P 146 40 56 4-M12x1.75P 1T 1600 oid-pd28 o106-0410

4-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS

HﬂHH—*—H Hraﬂ

@ mw@ oy
g/ g/
Bl
ﬁ ﬁ ﬁw EEEE;'fLE\atr'.D ns B {ITUNI Tmim
i R EEEpEE TREE Mex: Gripping Diamstar
MODEL ) B c o E F G H J K M L Max.Speed M IR E i L i R
| BPEC. LRmiminT} Q.DClamping  LD.Clamping
ADACT-08 200 825 180 176 55 12 3MIOx15P 75 22 2B 4-M12x1.75P 11 3500 od4-a1897 o051-0184
4DACT-10 250 91 200 224 76 13 3-MI12x1.75P 98 28 385 4-Mi12x1.78P 12 2800 o6-0265 e70-0250
4DACT-12° 315 103 260 286 103 14 3M16x2P 110 30 445 4-Mi12x1.75P 14 2200 010-0325 od1-0308
4DACT-15 400 22 330 362 136 15 I-MIE=EP 146 40 56 4-M1Exi.T5P 1T 1600 o14-0408 oi06-0388

DIN Cl k zeries (For the precision standard, please refer to p.61) 68



4-JAW POWERFUL ADJUSTMENT STEEL BODY CHUCKS

O] 58 I\ @ BY 7T\ 7% 2E 88 g 38 3\ 58 7J BY PO/ EH 7% 2L 8

R Y B > Dimensions R - B > Dimensions

B G
— —
K < =
wlHt+ g8l s =] 811 8 8l 8
| e ] .
s i . >
K
L \M : L M
1 1% & » Specifications BSf/UNIT:mm #R 1% & » Specifications B2 /UNIT:mm
BT /RS e0iER iBiEEEE Max. Gripping Diameter BT /RS Be0iEE BiEEEE Max. Gripping Diameter
MODEL A B C D E G F H J K L M Max.Speed NTAEIE fessia= MODEL A B C D E G F H J K L M Max.Speed  slimiz RIEIEE
/SPEC. r.p.m.(min") O.D.Clamping |.D.Clamping /SPEC. r.p.m.(min") O.D.Clamping |.D.Clamping
6DACT-08 200 825 160 176 55 3-M10x1.5P 12 75 22 28 11 4-M12x1.75P 2900 04-0183 051-g170 4DAKT-08 200 825 160 176 55 3-M10x1.5P 12 82 28 43 11 4-M12x1.75P 3500 08-0205 059-0190
6DACT-10 250 91 200 224 76 3-M12x1.75P 13 98 28 385 12 4-M12x1.75P 2200 06-0249 070-0233 4DAKT-10 250 91 200 224 76 3-M12x1.75P 13 102 35 545 12 4-M12x1.75P 2600 012-0265 078-0249
6DACT-12 315 103 260 286 103 3-M16x2P 14 110 30 445 14 4-M12x1.75P 1800 210-0305 081-0288 4DAKT-12 315 103 260 286 103 3-M16x2P 14 1175 40 56.5 14 4-M12x1.75P 2200 015-0323 086-0296
6DACT-15 400 122 330 362 136 3-M16x2P 15 146 40 56 17  4-M12x1.75P 1300 014-0406 0105-0387 4DAKT-15 400 122 330 362 136 3-M16x2P 15 150 50 745 17 4-M12x1.75P 1600 030-0419 0124-0396

DIN63504D &% DIN6350

3-JAW POWERFUL ADJUSTMENT STEEL BODY CHUCKS

O] R T\ 58 7D B = M A% 22 5 o] 5F T\, 58 7D BY 77 22 8

R < B > Dimensions R < B > Dimensions

A
K Eﬂ}
wd Ol ol <
Q Q Q Q
]|
I T ] g iT
e
Ll \Mm — L \m
#82 #& & > Specifications EE{i/UNIT:mm #5218 F= > Specifications EEfi/UNIT:mm
AT /3548 Be0iEE E¥EEEE Max. Gripping Diameter GillGawsr e e0iEE BiREEE Max. Gripping Diameter
MODEL A B C D E G F H J K L M Max.Speed  syiEimiE POFEIEIR MODEL A B C D E G F H J K L M Max.Speed  syimiz PO TR
/SPEC. r.p.m.(min") O.D.Clamping |.D.Clamping / SPEC. rp.m.(min") O.D.Clamping 1.D.Clamping
3DAKT-05 125 65 95 108 32 3-M8x1.25P 10.5 57 24 36 8 4-M10x1.5P 4800 03-0121 044-0120 6DAKT-08 200 825 160 176 55 3-M10x1.5P 12 82 28 43 11 4-M12x1.75P 2900 017-0193 067-0178
3DAKT-06 160 725 125 140 42 3-M10x1.5P 12 68 26 385 10 4-M12x1.75P 4200 08-0169 050-0158
SEUTNE 200 525 160 176 55 SMIoxISP 12 82 28 43 11 4Mi2d75P 3500 580206 558-0191 BDAKT-10 250 91 200 224 76 3-Mi2x1.75P 13 102 35 545 12 4-M12x1.75P 2200 019-0248 084-0232
SDAKT-10 250 91 200 224 76 3-M12x1.75P 13 102 35 545 12 4-M12x1.75P 2600 012-0266 0776250 6DAKT-12 315 103 260 286 103 3-M16x2P 14 1175 40 565 14 4-M12x1.75P 1800 023-0323 093-0296
3DAKT-12 315 103 260 286 103 3-Mi16x2P 14 1175 40 565 14 4-Mi12x1.75P 2200 215-0340 085-0313
3DAKT-15 400 122 330 362 136 3-M16x2P 15 150 50 745 17 4-Mi12x1.75P 1600 030-0440 0123-0416 6DAKT-15 400 122 330 362 136 3-M16x2P 15 150 50 745 17 4-M12x1.75P 1300 030-0419 0124-0396

59 (EEEEIREESIRE1H) (For the precision standard, please refer to p.61)[60



